| Efficiency vs Dxy |
> 0.2
35 S : : : : : :
0 0.18p e P e e A
> - 5 5 5 5 5 5
YU L e ] RS Rt S
© o : : i i : :
0014 e oo 1 R
E C : : : : : :
©0.12 e S 1 A
R 1
0 S S R | s e
006
L L iai e

Y S S T R

09555156 0 B 16 1820
TP dxy (cm)

-test_1000evt
itREFit-test 1000evt
ItREFit-OR-Test_1000evt
itREFit-ORK-test_1000evt
|tREF|t OR4 test 1000evt

TnnmT

—=— DOM CKT

_ —+— BgM_mk

| Efficiency vs Dz | | —— BQM- mt
—— DOM™m

N~ 0.7

©

£0.09
>
20.08
ko
(&)
£0.07
(]
0.06
0.05
0.04
0.03
0.02
0.01

.........................................

|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

AL 1 il
O J..LU_ :
4(_'5‘ - 2 A
- 3 H-
o L 1 2F |4
L dn
=% ko H L - SAREEEEEEEEREE
|l
- 00 ol 17
- x| |¥ +
L 2 B
- i@

093559 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


